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1. Let 8 be a set of all distinct numbers of the |5
form E,wherep,qr—.{]. 2, 3, 4, 5, 6]. What is
the cardinality of the set S ?
fa) 21
b) 23
() 82
(d) 36

2. IfesOandda+e<, thenax' —bx+c=0
has a root in which one of the following
intervals 7
(a) (0,2
() (2.3
{e) (3,4)
idy (2,00

3. If.ﬁ-lxil x4 6x
IIEH x° +0x+ 14 ' ek

(e} Bothland?2
(d) Neither 1 nor 2

4. If A is a square matrix of order 3 and
det A = 5, then what is det [(2A)7)] equal to 7

(a)  1/10
by 2/s
{c) 8&f5
(d)  1f40

ADN-S-SND (2-A)

What is '™ + 0" + 6% equal to, where w iz
the cube root of unity ?

{a) 1
(b} 3w
() 3a°
(d) 0

Ifltp[ J=D. where z=x+iv isa

zg+1

complex number, then which one of the

a h g
z|]|h b f|equalto?
g T e
(a) lax+hy+gz h+b+f g+f+el
a h g
(b} hx by £
i £ -
ax 4+ hy + gz
(e) b+ by + £
| gx+ 1y + ez

(d) lax+hy+gz hx+by+fz pgx+fy+ez]



1, Wﬁﬁﬁ.gmﬁwmm}ﬁ. m1m+m2w+mmmm#,ﬁﬁfmﬁrf
dendl ® w wmem s %, wd| () wemm ke
poae f1,2 84,5 6 8 | @9 86 wpEm @ 1
(FfEafd)) T 2 0 B aa
la) 21
(b) 23 € 0
(e) 32 @ o
(d) 36
2 3
= E;'uﬁmﬁm“%f;%ﬁ;;;;%:“ 6. af m[Li] =0, W& 2= x + iy T FEA
{a) (0,2 ) T | FAa o i 87
(b) (2, 8)
() (3,4
(d (-20
3. AR A=IlxeR B
B=lxel:x®+0x+ 1dn OTH
A s T R
1 ANB=i{xeR:-&<x<
2. A\B= E
e fau T = oW = £ | T wEr B 2
(a) EeEl 1 c
®) 2 l[ax+hy+gz h+bs+f g+f+¢]
(e} 1370 28ET

() A LA 2

4. AR A UE 3T UH A WG B M detA=5
®, 7 det [(2ArY T T 2 2

1/10

(b} 25

fed &5

) 1/40

(a)

ADN-5-8ND (3=A)

‘a h g
{h) hx by R

[ax + hy + gz
(el hx + by + fz

iy v

(d) [ax+hy+gz hx+by+fzr gx+fy+cal



Out of 15 points in a plane, n points are in the
same straight line, 445 triangles can be
formed by jeining these points. What is the
value of n 7

(a)
th) 4
(e} B
idl &

3

(a)
(b}
(e
(d)

—-2<k<2
-G<k=d
-3<k<b
-1l<k<3d

11, What ia the number of distinct solutiona

of the equation z°+ |z| =0 (where # is a
complex number) 7

fa) Ome
(b} Two
(c} Three
(d) Five

ADMN-5-SND

(4-

12. How many geometric progressions igfare

possible containing 27, 8 and 12 as three of
iteftheir termes 7

One
Two
Four
Infinitely many

(a}
(b}
(el
{d)

Let R be a relation from A= (1, 2, 3, 4} to
B = (1, 3, 5} such that
BR=({a,b):a<h whersaec A and be B},

What is RoR~. equal to ?
§ ™. 9, G?m. 3), (2, 53, (3, 5), {4, 5)

id}

No number can be formed

B
15. Whatis Yig 4+ Mog Z B-icy equal to 7
j=g

(&)
(k)
(¢l

(d}

Al



TH JOAE W 15 g A # o fag o @ e
T TR | FA fame it fens 445 s =
HERAE | nF AA TR ?

ta)
thi
(el
(d}

3
4

{a)

ﬁﬁﬂﬂﬁM:E—MH+::
- 3 ¥ 5 % W fem ¥
W4 e Hdll B Y
(a)
(b
(ic}
id)

10.

-2<k=<2
~faked
=Fck<h
-l<k<d

11, HEE 2t 4 |z|= 0% (FE 2 UF wEHY e

#) fim (fef) wol o o w0 2 2
(&}
(b}
Leh

& 3§

(d]

ADN-S-BND

{5_

12, T fee o Afgat wve E, fd R

wel & & o 92 27,8 3 128 2

{a) TH

(b) T

{c) =

(d) T IHEE
13. W AT R, A=1(1,2,38, 418 B=(1, 3, 5| 7,
36 UHN H UE g9y 2,
R=lla,bi:a<h T ac A3 beBIR
RoR-! s s 2 ¢

(a) (1, 3), (1,5), (2, 3}, (2, 5), (8, B), (4, 5))
b ..HJ‘ﬁbﬁhmJiﬂhﬁLmJidﬂ

B, (3. 5). (6, 3), (5. 5))

15,

(b}
e
(d)

Al



Consider the following for the next three (03)
items that follow :

Let a, x, v, 2, b be in AP, where x + v + 2 = 15, Let
apqreb h&inl—l.l",wherﬁp" +q‘1+r'lzﬁf3.

16. What is the value of ab ?
(a) 10
(b} 9
ey B
d) &
17. What is the value of xyz 7
{a) 120
ib) 106
{e] O
{d} Cannot be determined
18, What is the value of pgr 7 RL‘} ”
(a) 35(243
(b1 81/35
(ed  243f35
id} Cannot bed

The =ixth term of an AP

that the product uftheﬁrat,fn
terms is greatest 7

(a) 8f5
(b} 9/5
() 2

dy 11/s

20. What is the first term of the AP s0 that the
product of the first, fourth and fifth terms is
greatest ?

{a) =4
(by -8
el -8
(dy —10
ADN-5-SND (6

Consider the following for the next two (02)
itema that follow :

E+1 2x g%
Letax® +bx® +x +d=|2x 43 xwl x® :
HES di+d4 Bx—1
then
21. Whatis the value af ¢ 7
(a) -1
thy 34
ey 3b
(d) &0

% ‘T’l theﬂuf g+b+eoc+d?

One
tb) Two
{e) Three
{d} Infinitely many
24, What is the largest interior angle of the
polygon ?
(a) 160" only
(b)  196° only
(e} Either 180° or 195°
(d) Neither 160° nor 195°
=



arTe T (03) TvET & fere At ar e st @t 02) wvarn & fa ofefes o e
Fiam ; #ifao :
AR i a, x, ¥, 2 b, TEEL 4E (AP | §, 7 i
TﬁT:n}r-r:;lﬁ_tIﬁﬂ?ﬁﬁqa.p,q,r,h.m' e £
soft (HP 4 8, 8l p‘1+q‘1+t“1=ﬁfﬂ 2 gy
45 nhﬁiﬂﬁﬂi? 3 + xS v +d=|2%+3 £+1 X *
ta) 10 2-x 3dx+4 OHx-1
h) 9 Al
(ch 8
@ & 21, cH HAFNE?
17, xyz o A FTR 7 (a) =1
(a) 120 (h) 34
(b} 106
(e} 80 0
(dy Truffea =@ T = o .

18, por ¥ OH FR 7

(a) 85/243

(by 81/35

(e) 243/35 [

(d) Fruif 28 frn @
sl gl quz) saion & forg fom Fefer o7 fremw
#ifam :
fireft maTA O (AP) 1 ol v B2 A om0 S e U & i FHE A (AP)
i 1E s R N SR T 4007 § S A e 578 |
19. HWE AE (AP) w1 WE | i+ ) avE W B uEA S o

Eel, W19 3T TEE TE H TOHwE

{a) B;'rﬁ ih) ﬁi

th) 8/fs (e) T

ey 2 (d) HET: I

s L LA
20, W S (AP) T URE U2 1 B, @il g, | oA o e HET S Fram 2 2

i aft wtas 5 w1 e st 1 2 (@) e 160°

o = (b) e 195°

f:: :: {c) @A 160°TT 185°

(@ -10 (d) T 160°, 7 W 195°

ADN-S-SND (T—A)



1 0 o0 1
25. Ifm-= andn = , then what
0 % -1 0

is the value of the determinant of
meos B—nsin 8 ?
(a) =1
thy 0
&) 1
d} 2
cos x —smx 0
I fix) = [sinx
(1] 0 I
the following are correct 7
1. BB =fg)=H8+ 0.
2. The value of the deter

DOE X

1 and 2 only
2 and 3 only
{¢) 1land3only
d) 1,2and3

ﬂ-'f.. BL
of the system of equations x + ¥°
x-v+2z2=6 and 3x-y+5z=k?

1.  They have no solution, if k = 15.

2,  They have infinitely many solutions, if|gq,
k=20

3.  They have unique solution, if k = 25.

Select the correct anawer using the code given
below :

(a) 1and 2 only
ib) 2and3 only
(e} 1and3 only
id) 1,Zand3

ADN-S-SND

(B-A)

S i

, then
2 3 2
which of the following is/are correct ?

1.  AB(A'B " isa unit matrix.

2 (aBT=ATR

Select the correct answer using the code given
below :

{a) 1only

(b) 2only

(¢} Both1and 2

l"-i'air 2

If the number 235 in decimal system is
converted into binary system, then what is the
resulting number ?

(a} (11110011},
(b} (11101011}
(e) (11110101}

(d} (11011011),



Eﬁ.'ﬂﬁm=[1 U]Eﬂ[n]:u 1j|."tﬂ'
g 1 -1 0

mm cos 6 - n sin § % T % AE F=H R 7
(a)
{b)
(e
(d}

-1
0
1
2

- gin x
a X

0 1] 1
Frefafer g o s oh ¥ 1

1

BOE X [
Hf2 ﬂx}:[ain: ul g =

1) = f14) = 8 + &),
AR 116) x flg) & AT FH'T

T R x sy +2=8, 3
dx-y+be=k * HEY H
wHA TR

1. 9 k=152, 7 37 w1 w & |

9. Uiz k=208, 4 395 s WHEAE |
3. R k=258, 9 FE AU EA ¥ |
#1= B o e w1 wEm = A I g
(a) hEw 132

(by e 2 33

() HET 13N

(@) 1,23Mg

ADN-5-SND

28, R A= }334'!13 [i i]!,a"r
fafafen d 8 /@ wd 2/3 0
1. AB(AT B U T SR R
2. (AB-l=aAlBL
& fom T % w5 WA EH IR -
() %EE 1
(b) &EE 2
(e} 13 23
(@ 1,72

s n ok dn x ¥R In oz T TWIET WTED

s 2

T :.J‘.nr.,.!u:aﬂ'{ In z 1 TUTA WEg
(AM), In y &

30, I Zwwew ugh 6 FEwm 235 w Femand
wgf # wfafdn fear smen &, & ofoomf w=n
R
(a) (11110011}

(b) (11101011},
(@ (11110101),
(@)  (11011011),

(9=

Al



Consider the following for the next two (02)
itemns that follow :
Let o and [ be the roots of the equation

¥ —(1-2adix+(1-2a%) =0,

41. Under what condition does the above equation

have real roots 7

w
e
)

(el

| =

(b}

=
W

(5]
1%
=R = (i ) S

(e}

pl-ﬂ
I

(d)

(d) ¢, wherer = .ul'—_.l

ADMN-5-SND

{10 -

34. In an examination, T0% students passed in
Physics, 80% students passed in Chemistry,
T5% etudents passed in Mathematics and
A5% students passed in .'Eiiu:]iluulgf and x%
students failed in all the four subjects. What is
the minimum valae of x 7

(a) 10
(hy 12
e} A5
(d) None of the above

Consider the following for the next two (02)
itemas that follow ;
orsihio equationz 82X + 3y + bz = 9,
+3y+hz=)

mwndition does the above system
‘nave unique solutions 7

F=fandpu=9

Avband p=T7 only

4 # b and y has any real value
A has any real valueand p =9

id)

37. What is the number of odd integers between
1000 and 9999 with no digit repeated ?
(a) 2100
(b} 2120
fed 2240
(d} 3331

A)



s 2t 0z) s & fern fAefeafan @ e
#ifaw ;

A #ifae o 3 p o

2 (1-200x+(1-2a%=0F AR |

31, frm ufidy % anfn e o % O

Elnice U

5
A

{a)

"

pH
v

{bj

g4, wH wien #, R § 7on Rendf i em,
W # s0% faend I gw, oftm 4 75%
ferneff 3¥fivi g ofi Sfiafosm # sse feemdl
i 7w, st xo fameff o am fowd o
A 7Y | x W AH WH R 7

fa) 10
by 12
(e} 15
() I 1 H wE T

e @t 02) v & fe Aefefie v e

™

A
ol B3| e paf e B3

[c)

1+m

= o @ A, W o T (gFE)
= B 8 7
(a) 1
{h)

(1]

w?
oo, R = =1

(c)
(el

ADN-5-SND

+Hy+Ez=E

T A2 EHAP=T

{h)
(¢) A =53 u % srefas OF #
(d) 3% e Ertas o B A pew

1000 3 oees & e, Bl o W T
fimn, Torm quriset Y Hen = E 2

(a) 2100

(by 2120

{ey 2240

(d) 3331

37,

(11=A)



38. What iz the greatest walue of the
positive integer n aatisfying the condition
1+~1-+£+l+ + X {E—L?

2 4 B & on-1 1000
{a) 8
b} 8
(c) 10
d 1

Consider the following for the next two (02)
items that follow :

02 4 By — o = 0 has roots —2 and [} while the
equation x° — 9mx + 2m° = 0 has both roots
positive, where a>0 and f =0,

39. What is the value of 2 ?

(a) 1f2
by 1
ey 2
idi 4

If B,2,2m arein GP,
of fy'm 7
al 1

by 2
fe)y 4
(d) &

41. gin A + 2 sin 2ZA + sin 3A I8 equali

the fllowing ?

o 4 5in 2A cos” [ij
' 2
. .k AN
o it £y
2 sin 2A [51&2 + CO8 2]

a. Eﬁn&mﬁmﬂg[%]
Select the correct answer using the code given
below :

1 and 2 anly
2 and 3 only

1 and 3 only
1,2and 3

fal
(b}
{e)
{d)

ADN-5-SND

42. If x=8in 70°. sin 50° and
¥ = cos 60° . cos B0°, then what is xy equal to ?

(a) 118
) 18
1/4
1/2

{e)
id)

If ﬁﬂal+_ﬁﬁﬂ.ﬁg+_ﬂiﬂﬂa+ﬂiﬂﬂ‘=4’
then what is the value of
cos 6y + cos By + cos By + cos 6, ?

fa)l 0

45. If xcos 0 + y sin 6 = z, then what is the value
of (x sin 8 —y cos )" ?
53} zi-r)rg—zﬂ
(b x-y?—g?
el .'r.’z—;|.r“+=2
() xE+j'ﬂ~|-:sﬂ

(12-A)



ag, wirEy

B L :

A Gl Hf.:m:u:rﬂigE

ﬁiilﬁﬂ#'{ﬂﬂﬁniﬂﬁﬁﬂﬂﬁﬁt?

(a) &
by 9
fed 10
(d) 11

e B (02) R & few AefEiam @ e
AT
ox? + 3x— = 0% UF -2 300 p &, sl wiwm

% — Smx + 2m® = 0 % FH1 GH G 5t a0
amﬂ:,u§|

29, oF UHFIR?

1
pR=1

(a) 12
by 1
) 2
(d} 4

mw%*
(&) -1
b 2
e} 4
(dr 6
gin A + 2 sin 2A + gin 3A
T E 7

1 4sinzamf[%]

41.

(5

Dk A

7 in — 1 L =
2 24 H[ﬁm5+m52]

8: aﬁnﬁmamﬁ[ﬁ]

#r= fau T g =1 M wR A I g
{a) HEE 132

(by HEE 23Wa

(c) HEE 133

d) 1,233

ADN-3-SND

(13-

42, FR x = sin 707 . gin 50° 3N

¥ =cos 607 . cos ED“E?HF formes T R 7
1/16

1/8

1/4

1/2

(a)
(b}
(e}
id)

43, AR sin 8, + sin Oy + sin Gy + sin O, = 4 &, T
mﬁl+mﬂg+maﬂg+maﬂ¢ﬂﬁﬂﬂi?

(a)

45, A% xcosB+ysind=z B, A
(x sin § —y cos 8)* 1 AH 41 R ?

eyt-gt

o,

Xy

Cryer

(a)
()
(e
(d)

A)



48. What is the value of cos (2 coz™* 0-8) 7 49,

(a) 081
(b) 056
(e) 048
(d) 028

47. The top of a hill when observed from the top
and bottom of a building of height h is &t

angles of elevation p and q respectively. What

is the height of the hill ?
(a) _heotg
wtg-oot p
T
ot p—oot g
(e} Zhtanp
fanp-tang
Zhtanq
(d B e
: lan g —tanp
8. 1re.in1su="'rﬁ4“1,thm
gin §1° 7
Ja+J5 +4f5-45
(a)
4
@) J3+E+~.'I[E+-fl§
4 B2.
1,|[H—-\|"E+».Irﬁ—1.|"§
(e
4
o N3:5 - 5=
4

ADN-8-SND (14-A)

A moving boat iz observed from the top of a
cliff of 150 m height. The angle of depression
of the boat changes from 607 to 45° in
2 minutes, What is the speed of the boat in

metres per hour 7
|:E.} : iﬁﬂg
V3

) 4500043 - 1)

J3
{c) 480043 '

4500043 + 1)

(1 b s, e s

Ja

triangle has one vertex at (0, 0)
» at (3, V3). What are the
e&80f the third vertex ?

{0, 23 yor (3,—3 )
Neither (0,23 ) nor (3, /3 )

()

(d)

What is the equation of the right biscctor of
the line segment joining (1, 1) and (2, 3) 7

fa) 2Zx+dy-11=0
(b} Z2x-4y-5=0
e} 2x-4y-11=0
d) x-y+1=0



46.

47.

cos (2 cos~) 0-8) T HH T E 7

(a) 081
by 0-56
fe) 048
(dy 28

v wErEl w1 firE, e ) s & e
mﬁﬂmm?ﬂﬁﬂtm:pﬁmq%
TR ETI R | GEE A Fas s R 7

P ... L
cot g —oot p
heootp
B
(e} __fhtanp
fanp—tang
2htangq

) e
{d) D

48. ’ﬂﬁﬂmlﬁ’e ﬁ;l,?ﬁ ------
B2
o ,,1'3+JE.+,||5——JE
4
b) 1||E+1I"E+‘|IE+1"E
4

ADN-3-SND

© y3 -8 +45-+5
4

(d)

JE+JE—JE-J-5:-
4

(15-A)

150 m # I f vE W we F B A
U A e W ¥ W T R | A W
Heae o 2 e W 600 @ wEEe 450 &
3 | et wm, de O F, e R o

@ 4500
=
4500043 - 1)
) et
V3
{c) 450043
@ 4500043 + 1)
Ja

(e} (0,243 )30 (3,-+3)
(d TM 0, 24878 (3,-43)

g2. (1 1) 3t (2, 3) F wiEd I EEE F o

frurors =1 wfiem # 8 ?
fa) 2x+4y-11=0

bl 2x-4y-5=0

e 2x—-4y-11=0

(d) x-y+1=0



What iz the radiug of the circle passing
through the point (2, 4) and having centre at
the intersection of the lines x -~ v = 4 and
28 + By + T=07?

{a)
(b}
{e)
{d)

av.

3 units
5 units
343 units
542 units

84. What is the equation of the hyperbola having

4

75

latug rectum and eceentricity 8 and

(&)

What is the equation of the straight line
which passes through the point of intersection
of the straight lines x+2v=56 and
3x+Ty=17 and is perpendicular to the
straight ine 3x + 4y =107

{a) 4dx+3v+2=0

{b) dx-y+2 =0

el dx-3y-2=0

{d} dx-3y+2=0

ADN-S-SND

(16-A)

If (a, b) is at unit distance from the line
8x + By + 1 = 0, then which of the following
conditions are correct 7

1. 3a—4b—-4=10

b Ba4+Bbasll=0

3., EBa+6b=9=0D

Select the correct answer using the code given
below :

(a}
(b}
e}
{d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2and3

he Ellip@ + 1[:'::-,'I = 144 intercepts the
T dy = 12, then what is the length of

- Jfuts off an intercept of 2 units
ithgl direction of x-axizs and passes
oint {— 3, 5}, What is the foot of

(2, 0
o) (0,2
(dy (1,1

What is the eccentricity of rectangular
hyperbola ?

fal
Lk
(c)

ld)

SR



53. famg (2, 4@ T At T el x -y = 4 300
2:+3}’+T=ﬂﬂ?mﬂﬁ_ﬂﬂﬁaﬂiﬁ
T Tmdo

(a) 3 FERIEAT
(b} 5 FHEAT
(¢) 343l
(d) 542 T

a5 HAfwEe & witew T & fes i
aﬁtaﬁﬁfnm:ﬂaﬁt%i?

54.

(a}

o R R |

I W@ @ A A R, F e
;-i-'Z:.r-—"ﬁB:m 3::+Ty.—-1'?ﬁ-!11ﬂ‘@ﬁ'ﬁ=§,ﬁ
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(a)
1}
{e)

id)

dx + 3y +2=0
dx-y+2 =0
dx-Jy-2=0
dx-3y+2=0

ADN-S5-SND

(17~

57. FE(a, HitE Bx+ 6y + 1=00 M o m B,
7t Freiffisen vyl 4 @ S8 =6 § 2
1. Ja-4db-4=0
2. Has+6h+11=0
3. Ba+GBGh—-9=0

e 2w T 2w wEE #RoAE I A
(a) THaeT 137 2

(b) a2 #HR 3

(e) hael 1313

{d) Lz#R3

16v% = 144, 76T 3x + 4y = 12
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_MW%?
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Congider the following for the next two (02)
items that follow :

Let @ be the image of the point Pi- 2, 1, — §) in the
plane 3x -2y + 2z + 1= 0.

B81. Consider the following :

1.  The coordinates of @ are (4, = 8, = 1).

2. P4 is of length more than 8 units.

d,  The point (1, = 1, = 3} is the mid-point of
the line segment PQ and lies on the
given plane.

Which of the above statements are correct 7

(a) 1and 2 only

(b} 2and3only

fec} 1land3only

(di 1,2and8

62. Consider the following :

1. The direction ratiog of,
PQare<3, -2 2=

2.  The sum of the sgqua
cogines of the line Begm

Which of the above stater

(a) 1only

(b) 2 only

(e} Bothland2

id) Neither 1 nor 2

Consider the following for the next fwo
itemas that follow ;

A line L passes through the point P(5, — 8, 7) and

64. What is the equation of the line L 7

X—0 y+h d-]

{a)
-1 4 -}

:+5‘y—ﬁ!x+T
-1 4 -3
x-56 y+6 =2-7
=1 —4 a
:—5_y+5_3~?
= -4 =3

ib

(el

td)

Consider the following for the next fwe (02)
items that follow :

=

# R
i+-i-1:and]:n=r:+|;l,
“r -+ .
and d is perpendicular

=%
B8 [ @ =231 » v 4 5k, then which o the
following equations igfare correct ?

iz parallel to the planes x+y+2=1 and
2x—y-2z=3. 1. y—-x=4
2. 22-3=0
B3. What are the direction ratios of the line of Select the correct answer using the code given
intersection of the given planes ? below ;
fa) <=1,4,3> {a} 1only
by =<=-1,-4,3> (b} 2only
0) =<1,=438> {c) Bothland2
) =<1,-4,-3> {d} Neither 1 nor 2
ADM-5-SND (1B8-=A)



HE 3T (02) T @& fow fAafeiae G
#ifaw:

TR wifae Q, fag P2, 1, - 61, FHaS
3x— 2y + 2z + 1 =0 # wffam= & |

frofafas o fmm Hifm

1, Q% Fdww q,-3,-1F |

2. PQ T & yEal § W #

3. fag -1, -3 tewEe P asfag @
i fm o wwae o R R

awfe w4 | S w0

Gl.

ia) tHad 1 #{H 2
(b e 2 3 3
(e) Fae 133

64. T L% o = R 7

g=T
= 5

x—E=r+E=
-1 4

I+5_}f—ﬁ_z+?
-1 4 =3

(a}

(b}

) x-6 y+8 -7

-1 — 4 3
x -5 y+E g=T
(d) s e

et & (02) SRR & few fAefalee o Bew

b =31 + 4k =
* #gg B 3w

) 1,233

62. ﬁnﬁ-‘ﬁumﬁaﬁﬁﬁq

le)
(d) FArLAE 2

w37 (02) TP & [ feefeam w faew
el

o e L, g Ps, -6, 1) F B e R sl
THAA x+y + 2 =130 2x - y— 2z = 3% HATL & |

63. fen mu mwael &1 wfeedg T F RE-wgm
TR 7
fa) <1,43>
b =-1,-43>
) =1,-43>
d) =<1,-4,-3>

ADN-5-5ND

G6. ﬁﬁ?nx?+yi+ai,?ﬁmﬂﬂm
# 8 o/ d ad 28
.. y—-x=4
2, 2e—-3u=
e fan e e W W W wE I g
{a) a1
(b) a2
(c) 13 28
@ FA LML

{(18-A)



T2.

Congider the following for the next two (02)
items that follow

AT be thres asres etk Chat
- o —
= 0,and |a | =10, | b | =6 and

e I R T e
Whatis a .b + b.c + c.a equalto?
fa}] —332
(b) - 166
ey 0
idl 168

i

Whiat is. the angle betweon . and B2
()  80°
®)  45°
Loy a0
@ 7

h}rpnt.mmeﬂzp_thgn
- - 3 — .
AB.AC + BC.BA +

fa} p
m P
{e)

;i
(d) 5
A foree F- 31 + 2‘:1‘ is
point (1, —1, 2}, What is the's
foree about the point (2,-1,3) 7

{a) ;4-43 +4k
(h)
fe)
()
What i91t1m domain of the function
fix) =

?
Vv x]—x
(=22, O]
(0, =)
0=xel
x>1

M
21 + ] +2k
A ] Y
2i -7 -2k

75,

A A
2i +4j -k
71.

(e}

(b}
)
{d)

ADN-5-SND

(20-A)

Congider the following in respect of the

) Z2+x,. =0
function fix) =

2—x, x<0

1. lim flx) does not exist.

X ]
2, fix)is differentiable at x = 0,
3. fix) is continuous at x = 0.
Which of the above statements is‘are correct 7

(a) 1anly
(b} Aaonly
fe} 2 and 3 only
(d} 1and3only

here A = R'\[0) is such that
-. Un which one of the following
walinuous ?

() It has neither maximum nor minimum
atx =M.

{d) It has maximum value 1.

What is the area bounded by the curves
lw]=1-x"2

(a)
(b}
le)
(d}

43 Square units
8/4 square units
4 square units

16/3 square units



e =t o2) wETT & fee AofEtEe a fEew

#ifao; L.
om wfifwe 5, b ar o @ ufew wowen ¥ R
P T 2T =0, W (2|=10|F|=6
AT | =142
6. 2.Db +b.¢C +0.8 ThEhaTEmR?

(g) =332

(b) - 166

ey O

(d) 166
g8. = M b TdamEmaNd?

(a) 307

(b 45

(e) 60°

(d) 757
g9, U wae FgE ABC H

—» 3 >

AB.AC + BC.BA +

BT

{a) p

() p°

e} 2p*

F‘&

(d) o

70, g1, -1, 2 WaE F =9

T e # | g (2, - 1, 9) & T
et & & 2

@ 1+4)+4k
(h)
(e}
(d)
wEH

2i +j +2k
A M .3
2i =73 -2k
g1 +4j —k
fi) = —— . T S (ERA) TR 7
JIxl-=
L"mlu}
(0, oa)
Jex<l
x>1

5.

71.

(a)
(b
{el
{d)

ADN-5-SND

(21-A)

2+x, xz20

ST ﬂ=}={ *

g H

2-x%, x<0

Friferfiaa = Ran $ifsm .
1.  lim fix) ¥ sfca @R

i1

fix), x = 0 97 FEFANE 7 |
fix) x=0 W HFA & |

.
8.

IT FE H B RAHE A A 7
(a) A 1

(b) F=e 3

(¢) wveet 230 3

(.

@ x=0 WA e hEm R AH
o=

(d) sHET it o 1R

aml |y | =1-x* g ofeg Gawa a8 2

(a) 43 gl
() &f3 % gt
() 47 gl
(dy  16/3 = FHEEl



Consider the following function for the next|80. Which of the following equations isfare
two (02) items that follow : correct ?
5 -
3:2+12:—1. -1=x<2 f-2l=15)
fix)= 2 =-2)+ 05+ (B) =4
3T —x 2<x=3 .
Select the correct answer using the code given
76. Which of the following statements isfare below :
correct T (a) 1only
1. fx)is increasing in the interval [- 1, 2. (b) 2only
2- ﬂ'ﬂ} iﬂn ﬂ.ELTEE.EiIIE' in thﬂ interval {2} 3]. {l:j Bﬂﬂ:l. 1and 2
E:ilecithan'ectanswer using the code given ) Weither 1 nor 2
L 2
Consider the following for the next three (03)
(@) 1omly items that follow :
&) 2only Let fix)=[x], where [.] is the greatest integer
(¢} Bothland?2 function and gixl=sinx be two real valued
(d) Neither 1 nor 2 functions over K.
77. Which of the following statefiants ing statements is correct 7
9 V£ ot fix} and g(x) are continuous at
L fix)is continuous at x 47 '
2. flx) attains greatest yalucnt ¥ Wtinuous at x = 0, but g(x) is not
3. fix)isd i
alect thie i ; uous at x = 0, but fix) is not
below :
and discontin
{a) 1and2only o ARB
(b) 2 and 3 only following statements is
(e} 1and3only
(di 1,2and3 2l Mim_(fog) (x) exists.
Consider the following for the mexd thrie. (03] o ) x
follow : e £ gof) (x) exiats,
Let fix)= (x| =[x~ 1]}, Jm (Pog)x) = lim (gofi(x)
T8. What is {'(x) equal to when x > 17 ) lm (fog)(x) = lm (gof)(x)
(a) 0 83. Which of the following statements are
(b) 2x-1 correct 7
) dx-—2 1.  (fof) (x)=fx).
P 2. (gog)(x)=gix)only when x = 0.
4. (golfog)){x) can take only three values.
79. What is £{x) equal to when 0 <x <17 Select the correct answer using the code given
@ o hads
. (e} 1and2only
(b)  2x -1 (b} 2 and 3 only
(e} 4x—2 (¢) 1and3only
(d) 8x-4 (d} 1,2and3

ADN-S-SND (22-A)



AT 3t (02) T & e EEfeiew wee W
ﬂﬂﬂﬁﬁ?‘:

Eﬂ=13:;2+123-1. —1<x=2

37 —x, 2<cx<d

ve. TreatEa waE & weoava o B8
1. foo, S -1, 28 9499 R |
9. fx), A (2, 3] H FEAH R |
Fr fau e 1 AW R et I g
(a) a1
(b} FHad 2
e} 13 2@
(d) T 1ARE2

mr. Pofafes sl 0 g sRa w0 827
1. x=2W fixxgmd| S
B x= E‘H'{.Exjaiﬁ‘ﬂiﬂﬂ M4
3. x=2T fix)HA T
#ﬂ%ﬁm'ﬂq@ﬁﬁm il
(a) FEE 132
(b) Tam 2 37 4
(¢) Thae 133
(d) 1,233

A 7@ (03) TEE % forw et
s
e i fx=(x) - [x-1F &)
o x> 18, @ ) Reds s g 7

tay 0

by 2x—1

(e) dx-2

fd) Bx—4
ﬁﬂﬂﬂﬂlﬁ,ﬁf?[ﬂ)ﬁﬂ#mﬁ?
(al 0

by 2x-1
e} 4x-—2

T8,

idl Bx—4
ADN-S-SND

(23 -

Frferfiss adftert 3§ & s ad 28 2
1. fi-2)= fB)

2 =20 & £70-5) + £7(3) = 4

= fon o 2 w0 HE I R
(a) hew 1

(b} Had 2

(€ 13w 23H

) FA A2

e /i (03) TETAT & favw e o fAew
i

o AT fix) = fx), FET (. ] WA QUi Hee @ SN
gﬂl=sinn1ﬂﬂﬂmﬁﬁﬂﬂﬁﬁi |

} . R 7
oy x=0T Haa 8 |
..’ qmﬁsfﬁﬂﬂ,x——-ﬂﬂt

= lim (gof)({x)
E—=0-
1d) !il:n (fog) ix) = Hm {gof) (x)
= —+0+ x — 0+
g3, PofafEn Foi A A FAA T £ 7
1. (fol}ix)=1lx)
9. (gog)ix)=glx)FEa ot T x=0% |
3. (gn[fug)]tx}mm?ﬂﬁﬂﬂﬂﬁﬂﬁl
(o) wae 1300 2
() FHEe 233
(¢) Ao 1301 3
(dy 1,233
A



Consider the following for the next two (02)
items that follow :

be a real valued function.

B4. Which one of the following statements is

correct 7

{a} fix) iz a strictly decreazing function in
(0, %),

(ﬂﬂ iz a strictly increasing function in
0, x},

fiz) is neither increasing nor decreasing
m {0, xJ.

(d) fix}is not decreasing in (0, x),

{h)
ie)

Which of the following statements ia/are
correct 7 -
1. fix)is right continuous at x =
2, fix)is discontinuous at &1,
Seleet the correct anawer

below :

(a) Ionly

(b} Zonly

{fc} Both1and?2
{d} Neither 1 nor 2

Consider the following fa
items that follow :
Consider the

parabaola which ia-:lnaeattn it

(@) (0, 2)
{th} (-2, —8)
ey (7.2
dy (1, 10)
87, What iz the shortest distance from the shove
point on the parabola to the line ?
(a) __'4"1_51
2
{b) _@
5
o
(el ——
J10
J5
(d} e
ADN-5-SND {24 -

Consider the following for the next three (03)
items that follow :

-2 —-8=zx=0
Let fix) =
x—23, 0<x=<3
gix) =11 |x| )+ |fix)|

Which of the following statements isfare
correct 7

1.  pgix)is differentiable at x = 0.

2.  glx)isdifferentiable at x = 2.

Select the correct answer using the code given
below :

“ of the following statements are

1.  gix)is continuouz at x = 0.
2. glx)is continuous atx = 2.
3. glx}is continuous at x = —1.

Select the correct answer uzing the code given

below :

(a) 1and?2only
ibl 2 and3only
{¢d 1and3only
dd 1,2and3

Al



Tt 71 (02) SEATE & feg i g frem| sere /i (03) SwETwl & ferg el ot e
@i e,
A —1
oA e fixi=1 x s HH wfam ﬂﬂ‘[-ﬂ, =S
B, x=0 x-2, 0O<x=3
TH AEATEE O S f gz =0 |x| )+ [fix)]
84, Trefafas we-i § & $RT vE At 2 2 .
(@) ﬂﬂ.{ﬂ,:}i"ﬁlﬁimﬁqtl Frfafiga we i @ #N
(b)  fix), (0, %38 e e wer & | i A Ak
@ fix), (0, ) 7 A wduw &, 7 @ 5 | L x=0W gix) Fahera & |
(dl fix), (0, x) T BEEE T8 2 | 2, x=2W gix) SEwCEE R |
g5, Frefafan wei § & AV w8 28 0 A9 au . 2 w1 WA w0 I g
1 x=09, fix) i waa R | e
2. x=1% fix) 3w 2 | ) 0
fia fou e w1 WA HELET o
(o) HEE 1 -
by a2 1 g
(&) 1¥ 22E '

s 3t (02) s & R A

Wy AaML,ade

A
ﬂﬁﬁ’ﬂy=x‘+?u+zaﬂl
Taam fifaw |
86. wawd W 34 o %
& Freemn B 7
{a) (0,2
(b) (=2, —8) e e § O Sl wE A 7
e} (=T,2) i
) (1,10) 1. x=0Wgx) A e |
87, wEem W fEm I faeg @ v ) wgam g 9, x=2T gx)HW R |
FR? 8. x=—19 gix)Had ¥ |
(a} @
2 i feu m = w1 S gE I g
(b @ () Fam 13N 2
i {(b) Faer23in s
f’ (c} el 123 g
(@ -*i @ 1,233

ADN-S-SND (25=A)



51. Iﬂtﬂ:}h&ﬂ.ﬁmﬂﬂﬂn!-unhthntl o5, Ifld}’l}’&:+yad}'.}'}ﬂﬂndyl:1}=1.than
1 . . what is y{-3) equal to 7
f‘{;}w-xaf‘{:l—ﬂ,"i'i'hatm"‘ﬂ:}dx S
1 at
A :‘.h]} B:t:n]j;.aud
@ 21 Sk ool
(b} © {d} Neither -1 nor3
(o) 211-1)
(d) 41T1) 96. Whatisthearﬂﬁrufth&d]ﬂbrmﬁﬂﬂquﬂim
: e | %+Irﬂx=xﬂ :
LE L W]:.Eltiaj dx equal to 7
IE-J:"'+IH.-+I (a)y 1

IR i
X = :
(b} ||1‘+E'"'!E+ﬂ : iy '
X

o the following differential
(e -~ +F+1 + the: femmily. of wbeaigh
at unit distance from the
@ i L
x

the differential 4 El.x": 2
E]"‘i'l-—_]:i-i-z_ I—FEEHI {wl !fﬂ. -1+[l.'].'!]
IFJ <17 [{_1,;]5
(a) L1 : dx
(b) 1,2 2 8
@ (o8
d 22

] a o i
84. What is the curve which passes through thelog, Whatis [ etinx X008 xﬂ med_tﬂqua]h:?

point (1, 1) and whose slope is EE'{ | o8 ” X
(a) Circle ¥ (a) (x+secx)e™ “4c
{:1 Parabol () (x—secx) "™ *4¢

a
(e} Ellipse fe) (x+tanx) e 4c
(d) Hyperbola (d) {x—tanx)e™*sc

ADN-S-SND (26-A)



Wi g fix) v UE w2 R

1
r[i]u*‘-‘ Fix)=02 | j. fix) dx s s
=1

a1.

:
i@l
ib)
(el
(d)

21)
0

2fi-1)
4 R1)

2.

a3, Eyu—ﬁ-r iu,ll-_u"i _mu'

{EE? e=0, |x| <1, |v|

. 7 # 0
@ 1,1
B 1,2

e 2.1
d) 2,2

h%u.uﬂuaﬁmmaﬁ.ﬁaﬁmmﬂ_:
AR
(a) T

(b) YER

(e) BEgH
(d) fREET

ADN-S-SND

95, T xdy =ydx+yidy, y>0 3 w1 =1,
Al yi- 3) Foreh s 8 7

(a) a3
(b) =Ee -1
() —13f 3o
(dy I@-La®3

96, e mHEw %;+Iya:=xﬂ £ Ff
FTNE?
(a) 1
it T

== e [
L d=
= fﬂy E
=1 —_
] +Lﬂl]
2 .-" 2
# E«E] =1 ,‘LF]
05! ol
] 2
{d) [vrrtﬂ] =1—[%]
98, |etinxEO8 X-BINX . S o B 9
cos’ x
{a) (x+secx)e" T4

(x — secx) e % 4 ¢

{x+tanx}&d“+¢'

(A (x—tanx) 6™ %+ ¢

LT =)



a3
dx

O ons X b
0
value of k 7

(a) 1/4
(by 12
(0]

(dy 2

99, If =keot” ! 2, then what ia the

a
100. What is I|1_x‘|ﬂx equal to 7

x

(a) —232/8
(b}  =116/5
ey 116/5
(d) 232/5
101, A special dice with numbes
and 3 is thrown thrice, \

that the sum of the n b
upper face is zero ? |}

() /72
(b)  1/8

(e} T/72
() 26/216

There is 25% chance that it rains on
particular day. What is the pmhublllty that
there is at least one rainy day within a period
of 7 days ?

7
i
il [ﬂ

102,

(28

103. A zaleaman has a 70% chance to sell a product
to any customer, The behaviour of successive
customers is independent. If two customers
A and B enter, what is the probability that the
salesman will sell the product to customer

AorBY

ta) 098
by 081
(e} 070
(d 049

for tests I, I and III. The
t considered soccessful if he passes in

% L I or all the three. The
the student passing in tests I,
mgn and 1/2 respectively, If the
' th@ student to be successful is
hichh one of the following is

105. Three candidates solve a question, Odds in
favour of the correct answer are 5: 2,4 : 3 and
3 : 4 respectively for the three candidates.
What is the probability that at least two of
them solve the question correctly 7

{a) 209/343
(b} 134/343
(e) 149/343
(d) 60f343

Al



=2

99. 3R =kootle W kT HE

ﬂma:n-

i 'jr
(a) 1/4
by 1/2

e 1
dy 2

4
Ill—x"ldx o W B Y
1
(a)
(b}

e
{d}

1040,

—232/5
-116/5
116/5
232/5

1, -1,2,-20 3R 3 ¥

101, il 78
uiH A = e

(d) 25/216
102, Feht ot v Tl Ra a9f B9 =1 59

faa w1 sferem = & 2
{a) 1- [%T

(28~

103, TF Tassar gro et e i v Soug W
HAW T0% B | IAUE WTEH] T SHEER @A
a5 s A 3B IR K @ owh
e @ & S ow A T B W a8
Feqre &9 A 7

{a)
(b}
{e)
(d)

0-98
091
0-70
0-49

104. ®iE v wiens 1 o s o § @ R ) I
i, FH @ e # S gfeei 1, oo
i 3l & 9 R | W oeE
gienadt o, 11 o3t 1 8 3 8RR
i N, o ol 1/2 # | a2 o &

3| 7 o 41 3§ v T R | 105 O S o 5w | A e

¥ fom aft oo % o A HETHIE HEE: 50 2,
4:83M 3.4 % | 35F T mitwa 2 6 o
ﬁifgﬁ-ﬁqﬁzﬂﬂﬁulﬁ it aflad w|
FTAR?

208/343
134/343
149/343

fa)
(b)
{ed

d) 80/343

A)



106, Consider the following statements :

1. The mean and median are equal in
symmetric distribution.

2,  The range i5 the difference between the
maximum value and the minimum value
in the data,

3.  The sum of the areas of the rectangles in
the histogram is equal to the total area
bounded by the frequency polygon and
the horizontal axis,

Which of the above statements are correct 7

{aj 1and2only

(b) 2 and3only

i} 1and3only

(d) 1,2and3

107. The scores of 15 students

were recorded as 10, B, 85716, 13

20, 18, 11, 16, 14 and 12

mean, median and mo

One of the values is

instead of 18. Which ofthe fo

of central tendency wil

(a) Mean and median

{b} Median and mode

(¢} Mode only

(d) Mean and mode

108, For 10 observations on price(x) and
supply (v), the following data was obtained :

T x =130, T v =220, T x* = 2288, ¥ y* = 5606

and ¥ xy = 8487.

What is the line of regression of v on x 7

{a}) y=091x+ 874

B y=1-02x+ 574

() y=108x—"T02

(d) y=0891x— 702

ADN-5-SND

(30-A}

109. In a study of two groops, the following results

werse obtained :
Group | Group
A B
Sample size 20 25
Sample mean 23 23
JE‘EIEPlE standard deviation 10 12

Which of the following statements is correct 7

{a) Group A is less variable than Group B
because Group A's standard deviation is
smaller,

1@ less variable than Grnup B
e Group A's sample size s

is less variable than Group B
oup A's sample mean is

A's  coefficient of

= Phe following statements in respect

_cigEs  intervals of grouped frequency
ibution :

b Clasa intervalz need not be mutoally
exclusive,

o Class intervals should be exhaustive,
3. Clasa mtervals need not be of equal

width.
Which of the above statements are correct 7
{fa) 1 and 2 only

{(b) 2and 3 only
{e) 1and3only
(di 1,2and3



106, Fr=fafas =@ w e Fiftn
1. Gafhg €24 § uren it mifes aoe e
21
2. &n (221) 4 wfisam 9m IR SEEm Oe
% ot =1 23w i () #ar d

3, wrm-fem f et & w1 AEE,
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111. A medicine is known to be 76% effective to
cure a patient. If the medicine is given to
5 patients, what is the probahility that at least
ong patient is cured by this medicine ?

o5

1024

=5
1024

1023
1024

781
1024

{a}

(bl

(c}

{d)

112, For two events, A and B, it is g
P(A) = 2, P(B) = - and
and B are the complementar;
B, then what is P(A | B)f equal
3
{a) ?
3
{(b) 1
1
{c) E
4
(d) -
113. A machine has three parts, A, B and C, whose
chances of being defective are 0-02, 0-10 and
05 respectively. The machine stops working
if any one of the parts becomes defective.
What is the probability that the machine will
not stop working ?
(a) 0-06
ithy 016
(e) 0-B4
dy 004
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occur  with  probabilities PA) = L
i =1, 2, 3. What is the probabhility that at least
ong of the three events oceurs 7
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(a) E
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and y, are uncorrelated and
deviations o, and o

- 4
t iz tha correlation

Age
15 - 25

25 - 35
85 — 45
45 - 55
bo —6b
What is the mean age of this group of people ?
(a) 410

(b) 415

fc) 420
d) 425
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117. If the covariance between x and y is 30,[119, In a series of 3 one-day cricket matches
variance of x is 25 and variance of v iz 144, between teams A and B of a college, the
then what is the eorrelation coefficiont 7 probability of team A winning or drawing are
' 1/3 and 1/6 respectively, If a win, loss or draw
(al 04 gives 2, 0 and 1 point respectvely, then what

i the probability that team A will score
(B) OB 5 poinis in the series 7
17
fc) 06 ’ 33
(07 | i G

118. A coin is tossed

B: [Exactly one head appears - 20. Let ¢ fanflom variable X follow B8, p). If
| L) = P(X = 2), then what i the value
C: Atleast two heads appear
Which one of the following is correct 7 =
3
(al (AUB)NAUC)=BUC 1
(b ¥
(b (ANBYVANCY=B' LT .
(e} E
e} ANBUC)I=AUBUC
@ %
d AnN{BUCHY=BNC
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